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Question 1
039096 1 35050090l. g9630b0wMm® bomdowmdgdo:
A={ 9m3005 3sOGH030 Gogbgo};
B={ 9mgos 5-%g bsgemgdo Gogbzo};
C={ 8mgo>s 396¢0 Gogbgo};
D={ 8mgo@> wffo Gogbgo};
3bamm30@3mﬂ[(D nAyu (B o C)]

Answer:l

Question 2

947030 5 0go®o 5 8530 s 2 430090 3gmol gHmbsomo Bmdol dYHmMss. YmmoEsb
39000b39300 009096 GO0 dMMMNYESL. F5FMMZ5EJ0 0ToL SEBSMMDs, BT STMMGdIYO
OMMHMDYS 9055 Y3090 BJMHOUL.

Select one:
]

a. 6
5
b. 12
1
c. G
i
d. 12

Question 3
060 OHMEWEo gOHMsb)moLysb ©8MY300gds© gugzmol bsdobbgl. doM3z9wo

ALOMEgEoLIMZ0L LodoBHOL sHOsBYIIOL 5eBsMMBSS 0,8, bmerm dgmeg AbMmEgEobsmzgol-
0,7. 395900035¢09m 5€ds0»MdS 0dols, MM bEIoBbY BOBPYdS MMO FHY3000m.

Answer:l

Question 4

Lofgmddo doo@sbgl gHmo s 03039 @sLbgagdol 200 wibmmmo s 300 syo™md®o30

003 gdol GO0, 5EBd5IMBS 0oLy, MM »Ebmwyo FoMdmgdol gG>wo bEBBEIOEHMWOs
3oL 0,9, bmwm 5@y0wmd®030 F5G3mgdols 3o - 0,8. Lofymdowsb d9dmbggzom dgo@Bogl gm0
IGO0, 35FMMZSgm 0doL 5EdIMMBS, MM gl EIAIWO LEBIBIMEW0S.

Select one:
a. 0,48
b. 0,72
c. 0,84
d. 0,18


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n%5B%28D%20%5Ccap%20A%29%20%5Ccup%20%28B-C%29%5D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B5%7D%7B6%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B5%7D%7B12%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B6%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B7%7D%7B12%7D
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Question 5
9O golBMEoL 9909350 BsIOBEOL IBOIBIIOL 5eIBMMBSS 0.5. godmmgzawgm 0dol
3EB50Mds, O MMI MMbo FobMME0B LEFOBOY WSBOBWYdS MEMIXGE.

Answer:l

Question 6
bBEHOGH0 BEHBIOGHW 9GOl 53590 0.8 5edsmMmdom. 3s9Mm35¢9m 0TOL SEBSMMDS,

3 3B dme 100 ©9Esdo LEBBDIOEHME IEHIWMS B3MEIEMBS 0g69ds 5G0bs3wgd 85-
ol 5 5l 90-0b. 35LMbo sIMY35wgo d0dol G99y mmbo 30g8MOL LoBrLEHom. (D(-

x)=-®(x), ®(1,25)=0.3943, ®(2)=0,4772, ®(2,5)=0,4938, ®(3)=0,4986).
Select one:

a. 0,8929

b. 0,8715

c. 0,0995

d. 0,971

Question 7

1093930 GHo30L € d99mbggz0mo Loowol bodzzmogzgs

) r <1
felz)=qaz?...0<z2 <3
I r >3
398mm35tgo a
Sellect one:
a.3
1
b. &
1
c. 9
1
d. 2
Question 8

939905 oL3MYGHwo Go3ol f d900b3930000 LOOEOUL FobsHowrgds.

390035¢q0 M (g) ‘

Answer:l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=f_%5Cxi%28x%29%20%3D%5Cbegin%7Bcases%7D%200..........x%5Cle0%5C%5C%20a%20x%5E2......0%3Cx%5Cle3%5C%5C%200..........x%3E3%20%5Cend%7Bcases%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B3%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B6%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B9%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B1%7D%7B2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%28%5Cxi%29
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Question 9

1H93930 G030l é- 39000b393000 LOEOEOL Ysbsffoergdols Bmbdioss

Dveeeeenx <7
Fe(z)=q&L...7T<z <11
loeoz > 11
390G M(g)
Select one:
a. 9
b.1
c.4
d. 2
Question 10

9m 399905 oLIMYGHWo G030l € d9dmbgz930000 LOEO@OUL Qobsfoegds.

PRI R o)) D (g)

Answer:l

Question 11

dmEgdmos: ﬂ’f{(g) - QJMT(TF) = =3
PRI R o)) ﬂjf(.[)é' + 2??)

Answer:l

Question 12
3 990mbgz930m0 LoOY A6FOWGdME0s MBIV [5,b] Fwyscmgdo.

M(£) =8
290mmgsmgm b.

Answer:l

Question 13
dm@Egdmos 9g@kggs: 2. 3,2, 7,4, 4,3, 3,1,9.

030390 3bmdo FomgdsE03Mo wmobol fadEowmgsbo gxasligds X .

Answer:l


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F_%5Cxi%28x%29%20%3D%5Cbegin%7Bcases%7D%200..........x%5Cle7%20%5C%5C%20%5Cfrac%7Bx-7%7D%7B4%7D......7%3Cx%5Cle11%5C%5C%201..........x%3E11%20%5Cend%7Bcases%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%28%5Cxi%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=D%28%5Cxi%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%28%5Cxi%29%3D2%20%2C%20M%28%5Ceta%29%3D-3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%285%20%5Cxi%20%2B2%20%5Ceta%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cxi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M%28%5Cxi%29%3D8
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cbar%7BX%7D
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Question 14
dmEgdmaos 99ékggs: 1, 0, 4, 3, 3, 2, 3. 0.

030390 3bmdo obdgMlool fadEowmgsbo Fgasligds S‘f’-
Select one:

a. 4

b. 2

c. 12

d. 8

Question 15

25 390530m3B9 05330039050 563965, G 0lobo LedwysemE 16 fmb sbmIGdI6 ghoo bsfgmol
23LFMOGOL. 559900 99%-0560 Los0dgMdOL BMdOL 0bEIMZ5w0 BafgMol gobHmMadol Lsdmswm
OOHMOLmMZoL, M) 36Mmdool, G  02=36 ( Zo0=2,33, Zowws=2,57 , Zo0s=1,96 ). (3sLbbo
@559M35eg0 8dodol G999y mmbo 30gMOL LOBMLEOM).

Select one:

a.[11,916; 18,084]
b. [12,916; 19,084]
c. [12,568; 17,432]
d. [11,568; 18.432]

Question 16

93989905 MO0 GomEgbmdMogz0 60dbol dgmbg3zs .
X 0 1 2 3 4
¥ 3 1 -1 -3 -3

599, dgMBgz0m0 MgaMgliool FOROL gobEmegds.
Select one:

a. y=-4x+1

b. y=x+3

C. y=-2X+3

d. y=3x-7


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S_n%5E2

